"Concentrate" On These

1) Calculate the molarity of each of these solutions:

a) 3.623 grams of NaHCOj is dissolved in enough water to make 250.0 ml of solution.
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-3) How would you prepare 3.20 liters of a 0.50 molar HySOy4 solutlon from concentrated (18.0 molar)
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4) A solution of ethanol (CoHsOH) in water is prepared by dissolving 10.0 m} of ethanol (density: 0.79
g/ml) in enough water to make 250.0 ml of solution. What is the molarity of this ethanol in this solution?
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~5) A solution is prepared by dissolving 10.8 grams of ammonium sulfate in enough water to make 100.0
ml of stock solution, A 10.0 ml sample of this stock solution is added to 50.0 ml of water. Calculate the
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\EJ 6) Calculate the concentration of each ion present in each of the following ionic solutions.
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7) 0.150 grams of of the ionic compound NapCOjs is dissolved in HyO to give 1.0 liter solutmn What is
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the concentration of the Na* ion in the solution?
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-8) A solution is prepared by dissolving 0.5842 grams of oxalic acid (HyCpOa) in enough water to make
100.0 ml of solution. A 10.00 ml aliguot (portion) of this solution is then diluted to a final volume of B
250 ml. What is the molarity of the final oxalic acid solution? ( 0-06HBS S)( ol ): Ma ( 5 C')
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9) How many grams of Pb(NO3); would be recovered from 756 ml of a 0.651 molar solution of

Pb(NO3); if all the water was removed? 6. 482156 ol 231.22 9 \ lb‘%\o'\q
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MORE PROBLEMS!

1. Calculate the volume of solution required in each of the following:
a. 1.00 mole of sulfuric acid (H2S0O4) from a 6.00 M solution
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b. 5.00 g of sodium bromide from a 0.100 M solution
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d. 3.50 moles of nitric acid (HNO3) froma 3.0 M solutlon % T4
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2. Calculate the number of grams of solute necessary to prepare the following solutions.

a. 500 ml of a 0.10 M sodium hydroxide solution
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b. 250 ml of a 0.020 M calcium chioride solution
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3. What volume of 12.0 M HCI wouid you need to make 3.80 liters of 1.65 M HCI ?
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4. You've just made 2.0 liters of cherry Kool-aid that has a dextrose (CgH120g) concentration of

0.35 molar. How many grams of sugar (dextrose) would you have to add to the Kool-aid to
increase the dextrose concentration to 0.50 molar . (assume no change in volume)
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5. How would you make 1.25 liters of 0.75 molar HCI solution from a stock solution with a

molarity of 12.1. v
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